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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['T", "Topt’], ['RH', 'RHopt'],

"lopt’ ],

Plot [['I",

400
350
300
250

175

150

125

100

75

50

25

7

175

150

—— RH
———  RHopt

175

150

ETcl
optETcl

175

LA

150

175

150

optEtRate

»\

125

125

125

125

100

100

100

N\

100

A

—~— I\

A

75

75

NS\

75

75

50

50

A
v
—

50

50

25

25

25

25

TV VTV VY AN NAM W VIV WA

30.0

271.5

25.0

22.5
20.0
17.5
15.0

75

70
65
60
55
50

2500

2000
1500
1000

3.5

5
0

1.
1.

3.0
2.5
2.0

0.5

0.6
0.4
0.2

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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LRGSR (120. 0) 58] (91. 0) A" FF, FIREHR T % MEERSE XER

ZRIASCPRIERE66.0 ml.
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ZRIASERRIERE99. 0 ml.
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Bfig) | JEBEATIC (FD) | EBRE (BFH/HR) | XS EFE

08:45 210 50.0 |Z & B3i1%@08:45 (KFERHE)
10:00 210 50.0 A ’Ri1%@10:00 (KkBfEREE)
11:25 210 50.0 ] Rige11:25 (KRBAERE)
13:30 210 50.0 ] Bi%@13:30 (RRAERHE)
15:15 210 50.0 |Z= BRige15:15 (kKBfERE)
2it]1050.0 (5)%) 250.0 3EHKEC: 1560.0, PH: 5.6

LRGSR (210.0) 578 (91. 0) A FF, FIREER T % MEERSE XER

ZRIASLPRIERE116.0 ml.

large discrepency for begining water status (15:111.0), set to 35.0 ml.
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

—o— ME —o— me | 2197 —— ne | 277 —o— ME
27.0 1
27.57 27. 4 1 27.6 1
26. 8 -
27.0 1 27.3 1 27.5 -
26. 6 -
26.5 27.2 27.4
26. 4 -
26.0 - 27.1 1 27.3 1
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
27.9 1 — NE 27.8 1 — NE 27.8 1 — NE 27.8 1 — NE
27.8 1 97 74 27.7 1 97 74
27.7 1 27.6 -
27.6 1 27.6 -
27.6 27.5
27.5 1 27.5 1
27.5 1 27. 4 1
97 4 4 27. 4 1 97 3 4 27. 4 1
27.3 1 27.3 1 27.2 1 27.3 1
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
27.50 - 21.75 1
. M_W —.— M_w + M_W
27. 25 -
97 95 27. 50 -
27.00 -
27 00 27. 25 -
26. 75 -
26. 75 - 27.00 1
26. 50 -
26, 50 - 26. 75 -
26. 25
06, 25 - 26. 50 -
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
—— MW 21.2 1 —— MW 27.50 1 —o— MW | 27.25- —o— MW
27. 25 - 27 0
: 27. 25 - 27 00 -
27.00 - 26. 8 -
27.00 - 26. 75
26. 75 26. 6 -
26. 75 26, 50 -
26. 50 - 26. 4 1
262 ] 26. 50 - 06. 25 -
26. 25
26.0 26. 251 26. 00
690 695 700 720 725 730 810 815 820 870 875 880
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P3-12

Bfig) | GEBEATC (BD) | EBRE (BEFH/HR) | XS EFE

09:15 210 50.0 i RRi1%@09:15 (R FfERER)
10:15 210 50.0 R BRi&e10:15 (kKAfEREE)
11:30 210 50.0 5 B1%011:30 (RREERE)
13:05 210 50.0 |Z=& B1%013:05 (KRFERE)
14:40 210 50.0 |Z= BRige14:40 (kPEREE)
2it]1050.0 (5)%) 250.0 3 HKEC: 1560.0, PH: 5.6

ESGEBET (210.0) STRE (91, 0) T4, WALET £ ME RS 2 KEH
ERIAKFRERE116.0 ml.

large discrepency for begining water status (15:111.0), set to 35.0 ml.
BEXR i3t Bl RECEIEER K.

REREBLIFHHEREC/PHETRK, AIRERZIIRENRTK



P3-12_0, Day=1 (2025-04-03)
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

27.0 - o— | 2710 o— ne| 2731 —T
27. 25
26.9 27.05 27.2 -
27.00 ~ 26. 8 - 27.00 -
27.1 -
26. 75 26.7 - 26. 95
27.0 -
26. 50 4 26. 6 - 26. 90
26.5 - 26. 85 - 26.9 1
26. 25
26. 4 - 26. 80 26.8 -
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
27. 4 - o— we | 2737 o— we | 2747 o— we | 247 —
217.3 1 27.2 - 27.3 -
27.3 -
27.2 -
27.1 - 27.2 -
27.1 - 27.2 -
27.0 - 27.1 -
27.0 -
27.1 -
26.9 26.9 - 27.0 -
26. 8 - 26.8 - 27.0 - 26.9 -
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
08, 00 - —o— MW | 27.75- —o— MW | 27.75- —— MW
i 27.50
97 75 27.50
i 27. 25
27.50 1 21.25
27.00
_— 27.00
26,75 26. 75
27.00 A A
26. 50
26. 75 1 26.50 7
T T T T T T T T T T T 26 25 B T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
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»r 75 —o— MW | 27.75 —— MW : - MW - MW
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26. 75 26. 50 -
26, 75 26. 25
26. 50 i
26. 50 26.25 26. 00
T T T 26 25 B T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880



